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Start	
  knitting	
  the	
  shawl	
  from	
  the	
  few	
  stitches	
  and	
  then	
  increase	
  it	
  by	
  two	
  stitches	
  every	
  

second	
  row	
  you	
  will	
  get	
  the	
  size	
  you	
  need.	
  

	
  

Materials:	
  

–	
  2	
  Skeins	
  of	
  Acrylic	
  BulkYarn	
  (	
  1	
  Skein	
  =	
  100	
  gramms	
  )	
  

–	
  US	
  #8	
  circular	
  needles	
  (Metric	
  Size	
  5	
  )	
  

–	
  Crochet	
  hook	
  

	
  

The	
  pattern	
  is	
  really	
  flexible,	
  feel	
  free	
  to	
  create	
  your	
  unique	
  shawl	
  using	
  this	
  method	
  by	
  

choosing	
  the	
  yarn	
  and	
  needle	
  size	
  you	
  like	
  most.	
  

	
  

Finished	
  Size:	
  45	
  in	
  (155	
  cm)	
  across	
  top	
  edge,	
  24	
  in	
  (60	
  cm)	
  from	
  center	
  back	
  to	
  bottom	
  

point.	
  

Length	
  of	
  braids	
  is	
  8	
  in	
  (	
  20	
  cm	
  )	
  

	
  

Abbreviations:	
  

K	
  =	
  Knit	
  

P	
  =	
  Purl	
  

YO	
  =	
  Yarn	
  Over	
  

K2TOG	
  =	
  Knit	
  Two	
  Together	
  

WS	
  =	
  Wrong	
  Side	
  



Directions:	
  

Cast	
  on	
  10	
  stitches	
  

Row	
  1:	
  P	
  till	
  the	
  end	
  of	
  row	
  

Row	
  2:	
  K1,	
  YO,	
  *K2TG	
  YO*	
  K2,	
  YO	
  *K2TG	
  YO*	
  K1	
  

Row	
  3	
  and	
  all	
  odd	
  rows:	
  P	
  till	
  the	
  end	
  of	
  row	
  

Row	
  4:	
  YO	
  *K2TG	
  YO*	
  	
  K2,	
  YO	
  	
  *K2TG	
  YO*	
  

Repeat	
  Rows	
  1-­‐4	
  to	
  create	
  a	
  pattern	
  

Bind	
  off	
  all	
  stitches.	
  Weave	
  in	
  ends.	
  

	
  

	
  



Nota	
  Bene!	
  In	
  this	
  pattern	
  to	
  middle	
  Knit	
  stitches	
  (	
  initially	
  stitches	
  number	
  5	
  and	
  6	
  )	
  serve	
  

as	
  a	
  decorative	
  middle	
  of	
  the	
  work.	
  So	
  you	
  will	
  have	
  to	
  knit	
  the	
  pattern	
  surronded	
  by	
  *	
  

untill	
  you	
  reach	
  this	
  middle	
  stitches	
  and	
  after.	
  

	
  

	
  
For	
  example,	
  let’s	
  compare	
  Row2	
  and	
  Row	
  8.	
  

Row	
  2	
  consists	
  of	
  10	
  stitches,	
  which	
  leaves	
  only	
  two	
  stitches	
  from	
  each	
  side	
  of	
  the	
  middle	
  

of	
  the	
  work	
  for	
  the	
  pattern	
  *K2TG	
  YO*	
  

Row	
  2:	
  K1,	
  YO,	
  *K2TG	
  YO*	
  K2,	
  YO	
  *K2TG	
  YO*	
  K1	
  

While	
  Row	
  8	
  consists	
  of	
  22	
  stitches	
  already,	
  therefore	
  there	
  are	
  8	
  stitches	
  left	
  from	
  each	
  

side	
  of	
  middle	
  stitches	
  and	
  one	
  needs	
  to	
  repeat	
  	
  *K2TG	
  YO*	
  4	
  times.	
  

Row	
  8:	
  K1,	
  YO,	
  *K2TG	
  YO,	
  K2TG	
  YO,	
  K2TG	
  YO,	
  K2TG	
  YO*	
  K2,	
  YO	
  

*K2TG	
  YO,	
  K2TG	
  YO,	
  K2TG	
  YO,	
  K2TG	
  YO*	
  K1	
  

Braids	
  

	
  

1.	
  Cut	
  18,5	
  in	
  (44	
  cm)	
  lengths	
  of	
  yarn	
  –	
  three	
  for	
  each	
  braid.	
  

2.	
  Double	
  three	
  strands.	
  

3.	
  Insert	
  crochet	
  hook	
  in	
  one	
  edge	
  of	
  the	
  loop	
  at	
  the	
  end	
  of	
  the	
  shawl.	
  

4.	
  Hook	
  the	
  fold	
  of	
  the	
  strands	
  and	
  pull	
  a	
  loop	
  through.	
  

5.	
  Pull	
  the	
  ends	
  through	
  the	
  threads	
  loop.	
  Pull	
  the	
  ends	
  gently	
  to	
  tighten	
  the	
  knot.	
  

6.	
  Divide	
  the	
  threads	
  into	
  three	
  parts	
  and	
  do	
  the	
  braid.	
  

7.	
  Tie	
  another	
  knot	
  at	
  the	
  end	
  of	
  the	
  braid.	
  Repeat	
  from	
  the	
  other	
  side.	
  

You	
  are	
  done!	
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This	
  pattern	
  is	
  for	
  personal	
  use	
  only.	
  
Items	
  made	
  from	
  this	
  pattern	
  may	
  not	
  be	
  sold.	
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